-~ ®
m PR®DUCTS

RA4dKR
KammRack

Instruclions

CITY CRASH ()

RA4KR d rhinoproducts.co.uk



RA4KR:

MERCEDES Vito 2003-

*optional upgrade*

SA397U x 4[ | SA398U x 4] | SA429 [ |

PS519 x 1 [ | PS520 x 1 | EXT15-02 [ | SA437x1[ ]

LHS x 2 RHS x 2 Centre x 2

2 RA4KR _d



Fitting Kit

PS178 x 4[] PS046 x 8 [ |

S & N

FWO001 (M6) x 16 FWO008 (M6) x 16 FTO1 x 1[_]

= L] []
S=
FS102 FS145 FBO0O0O9 7 FS039
(M6 x 75) x 2 (M6 x 70) x 2 (M6 x 65) x 4 (M6 x 30) x 8
|:| |:| = |:| = |:|

Fso18 [ ] @

(M8 x 25) x 20  FN085 x 20[ |

RA4KR _d



SA398U

SA398U §

SA397U

FS102 FS145 FB009 FS039

Al ©

RA4KR _d



PS178 + M6 x 30mm

—_10mm

PS181/

PS182 + M6 x 65/75mm

10.

M6 x

PS181 + M6 x 65/70mm

RA4KR _d



€

e

RA4KR _d



K515- Vito 2003-2015 L3, H1 Twin Doors

e

-

3430mm +
5223mm

430mm

a-»

[+——3200mm —

4748mm

RA4KR _d




K512- Vito 2003-2015 L1, H1, Tailgate

+ | o memm I
Max
. 3200mm - -

1 28mm

K513- Vito 2003-2015 L2, H1, Twin Doors

@ ] 150kg ‘Lo2mm &
;= g

fe—r 3200mm —

38kg/84lbs ——— 4993mm

328mm

RA4KR _d



K511- Vito 2003-2015 L2, H1, Tailgate

-

@

s
35kg/77lbs

150kg
Max

+——3200mm —
4993mm

K513- Vito 2003-2015 L3, H1, Tailgate

@

e o
36kg/80lbs

150kg

jo— 3430mm —|
5223mm

-y

RA4KR _d




K513- Vito 2015- L1, H1, Twin Doors

T = @0

& 3200mm »
35kg/77lbs - 4895mm-

K512- Vito 2015- L1, H1, Tailgate

@ mmm 150kg T j
o — Max i STnzmm

~—— 3200mm —/
34kg/75lbs '

4895mm——

10

RA4KR _d



K515- Vito 2015- L2, H1, Twin Doors

@ mm 150kg Jgomm ._.
L EE Max (;®; é ) BJ 1 JJ

K511- Vito 2015- L2, H1, Tailgate

@ mm  150kg @Lozmm j
o EEE Max | )

f—— 3200mm —
5140mm

. - T
. ) S
— ———— ——— =

I_ W — I- -~

RA4KR _d 11




K515- Vito 2015- L3, H1, Twin Doors

S R Q‘ Q
e N Max ‘ l )

40kg/88lbs — &370mm

K515- Vito 2015- L3, H1, Tailgate

@ = 1 z‘;‘;g i 1902mm Jﬁ

——3430mm —
5370mm -

12 RA4KR _d



CLICK!

[

-.:

i

-

i

®

_—

u
=

g_

w%m

13

C1

1

RA4KR _d



29

a

) 7 It
=10 J'};\\\

=i
3

=
[




29.

// Q

S \Wyal Vi

/// =\
Z) I , ® .

&

28.

EXT15-02

\ ,.,,,
>
\ |

15

RA4KR _d



e

-\

R

A

RA4KR _d

© <mmmm

FNO85

YT =
= @?_‘.q.f/@ﬂ» A
5/ ‘\ ®) S
N m\ Z
=
\ m . ‘
Rw \ ) ~ .
™ \ (o) ”
i
e | ko
Q 4
.m 7—
H—H . _w.u.lnw s
(© o | |
I \ \
| | ,6. \m‘ & 7 @
> , | @4 i ™ ,,,

=

16



\ TR
\ O\
\ 1 |

I N

i I\

\ I\

N N
) J
\ I
X

\ ., ‘ﬂ;%////a

42.

17

RA4KR _d



18 RA4KR _d



52.= 53.

A+B
<) A2

CLICK!
PS519

56. 57.

30mm MAX

RA4KR _d 19



N
\\ UK +44 (0) 151 319 2931 rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

©

CLICK!

A

RA4KR d Manufactured by Rhino Products Ltd in the United Kingdom. 20
__ Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



